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B - Classical String Problem
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#include <bits/stdc++.h>
using namespace std;
const int N = 2e6+5;
char s[N];

int main

int Q;
scanf("%s",s);
scanf("%sd",&Q) ;
char opl[3];
int n = strlen(s);
int st = 0,x;
int i = 1;i<= Q;i++
scanf("%s%d",op,&x) ;
oplO] == "'A'
X--;
int pos = ((st+x)%n+n)%n;
printf("%sc\n",s|[pos]|);

st = st+Xx)%n+n)%n;

0;
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C - Operation Love
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#include<bits/stdc++.h>
#define pii pair<int,int>
#define 11 long long
using namespace std;
#define eps le-4

struct Node

double x,y;

Node (double x=0,double y=0):x(x),y(y

Node operator -(Node a Node(x-a.x,y-a.y);
pl22];
int dcmp(double x

X<-eps SN
X>eps;

double sqgr(double x X*X;
double dissqr(Node a,Node b sqr(a.x-b.x)+sqr(a.y-b.y);
double Cross(Node a,Node b a.x*b.y-a.y*b.x;
int main

int t;

scanf("%sd",&t) ;

t--

int i=0;1i<20;i++)scanf("%sLfslf",&p[i].x,&p[1i].Y);
int j=0;
int i=0;1<20;i++

demp(dissqriplil,pl(i+1)%20])-81)==
j=1; ;

dcmp (dissqrip! (j+2)%20],p| (j+1)%20])-36)==
Cross(pl(j+2)%20]-p[(j+1)%20],pl[]!-

pl(j+1)%20])<0)puts("right");
puts("left");

Cross(pl(j-1+420)%201-pljl,pl(j+1)%20]-plj!)<0)puts("right");
puts("left");
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F - Fraction Construction Problem
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#pragma GCC optimize(2)

#pragma GCC optimize(3,"Ofast","inline")
#include<bits/stdc++.h>

#define ALL(x) (x).begin(), (x).end()

#define 11 long long

#define ull unsigned long long

#define pii pair<int,int>

#define mp_ make pair

#define pb push back

#define fi first

#define se second

#define rep(i,a,b) for(int i=(a);i<=(b);i++)
#define per(i,a,b) for(int i=(a);i>=(b);i--)
#define showl(a) cout<<#a<<" = "<<a<<endl
#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" = "<<b<<endl
using namespace std;

const 1l INF = 1LL<<60;

const int inf = 1<<30;

const int maxn = 2e6+5;

const 1l B = 4el2;

inline void fastio ios::sync with stdio(false);cin.tie(0);cout.tie(0);

bool vis[maxn];

vector<int> prime;

inline 11 gcd(1l a,1l b b==07a:gcd(b,a%b);
inline 11 exgcd(1l a,1l b,11 &x,11 &y

11 d;
'b) d=a,x=1,y=0;
d=exgcd(b,a%b,y,x);y-=a/b*x;
d;

void init
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int n = 2e6;
rep(i,2,n
lvis|1i prime.pb(1i);
1l j=(11)i*i;j<=n;j+=1) vis|j]| = 1;
int main

int ; init();
1l a,b,c,d,e,f;
scanf("%d",& ); ; --
scanf("slldslld",&a,&b);
b==1
printf("-1 -1 -1 -1\n");

1l k = gcd(a,b);
k > 1
a/=k,b/=k;
d =0b,f=b;
c = atl,e = 1;
printf("%lld %1l1d %lld %lld\n",c,d,e,f); ;
lvis|b // ab0O00ObOOO
printf("-1 -1 -1 -1\n"); ;
int x:prime
b%x==0
d = 1;
%x==0) d*=x,b/=X;
b== /0000000
printf("-1 -1 -1 -1\n"); ;
f =Db;
exgcd(f,d,c,e);
c<0
1l k = abs(c)/d+1;
c += k*d,e -= k*f;
printf("slld %lld %lld %lld\n",c*a,d, -e*a,f);
0;
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G - Operating on a Graph
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#include<bits/stdc++.h>
#define pii pair<int,int>
#define 11 long long
#define pb push back
using namespace std;
const int N=8e5+10;
vector<int>G[N/|,s;

int read

int x=0,f=1;char c=getchar();

c<'0'|]|c>'9’ c=="'-"')f=-1;c=getchar();
c>="0"'&8C<="9") {x=x*10+c-'0"';c=getchar();
x*f;

int father|[N];

int find(int x x==father[x|?x:father[x|=find(father(x]);
int main
int t=read();
t--

int n=read(),m=read();
int i=0;i<n;i++)vector<int>().swap(G[i]), father[i]=1i;
int i=0;i<m;i++

int x=read(),y=read();
G[x].pb(y),Glyl.pb(x);

int g=read();
int i=1;i<=q;i++

int u=read();
find(u) !'=u ;
int v:Glu

int fv=find(v);
fv!i=u

father|fv|=u;
s.size()<G[fv].size())swap(s,G[fv]);

s.insert(s.end(),G[fv].begin(),G[fv].end ;

vector<int>().swap(G[fv]);
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s.size()>Glu].size swap(s,Glul);
Glu].insert(G|u].end(),s.begin(),s.end
vector<int>().swap(s);

int i=0;i<n;i++)printf("%sd ", find(i
pu.ts mnn ;

.
1

L - Problem L is the Only Lovely Problem

googd

#include<bits/stdc++.h>
using namespace std;

char s ,S1 ="lovely";
int main

cin>>s;
int i=0;s1[i];i++

s[i]>='A'&&s[i]<='Z")s[i]=s[i]-'A'+'a’';
sllil!=s[i puts("ugly"); ;
puts("lovely");

’
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